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Instructions for candidates :

1.

2.

This question paper is in two parts.

Part - I is related to Mental Ability Test which
consists 0of 90 questions.

Part - II relates to Scholastic Aptitude Test
which consists of 90 questions relating to three
subjects listed below :

1) Science
i1)  Mathematics
i)  Social Studies

Each question carries one mark. All questions
are compulsory.

You have been provided with an answer sheet
(OMR) for this question paper. Darken the
correct option of each question in the answer
sheet (OMR) with black/blue ball pen.

Rough work may be done on the blank space
provided for this purpose.

There is no negative marking in this test.
Do notuse white fluid on Answer (OMR) Sheet.

Half an hour extra should be given to Physically
handicapped candidates only.
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MAT MAT
Directions (Q.No. 1 to 12) faaew (yas &: 1 3 12)
In the following series, find the suitable numberorword ~ d&* fo'3t &t f&9, ? €1 gt I mat Afumr wF

in place of ? Hyg & 9= a9 |
1. 2,5,9,7?,20,27 1. 2,59,7?,20,27

(1) 14 (2) 16 (1) 14 (2) 16

(3) 18 4 24 (3) 18 4) 24
2, 120, 99, 80, 63, 48, ? 2, 120, 99, 80, 63, 48, ?

(1) 35 (2) 38 (1) 35 (2) 38

(3) 39 (4) 40 (3) 39 4) 40
3. 10, 14, 26, 42, 70, ? 3. 10, 14, 26, 42, 70, ?

(1) 100 (2) 102 (1) 100 (2) 102

(3) 106 4 14 (3) 106 4 114
4 4 9 9 39 4 4 9 9 39

9°29 86 9729 86

) @ 2 ) 3 @

3 32 @ & @ 32 @ 5
5 125, 126, 124, 127,123, ? 5 125, 126, 124,127,123, ?

(1) 130 (2) 128 (1) 130 (2) 128

(3) 129 4) 132 (3) 129 4) 132
6. 8, 14, 26, 50, ? 6. 8, 14, 26, 50, ?

(1) 102 (2) 96 (1) 102 (2) 96

(3) 98 (4) 103 (3) 98 4) 103
7. AC,FH,KM,PR,? 7.  AC,FH,KM,PR,?

(1) uw (2) vw (1) Uw (2 vw

(3) UX 4 TV (3) UX 4 TV
8.  AYD,BVF,DRH, ?, KGL 8.  AYD, BVF,DRH, ?, KGL

(1) FMI (2) GWmJ (1) FMmI (2) GMJ

(3) GLJ (4) HLK (3) GLJ (4) HLK
9. GA4T, JIR, M20P, ? 9. GA4T, J9R, M20P, ?

(1) P42N (2) Q43N (1) P42N (2) Q43N

(3) P42M (4) P43N (3) P42M (4) P43N
10. Q1F, S2E, UéD, w21C, ? 10.  Q1F, S2E, UéD, W21C, ?

(1) Y44B (2) Ye66B (1) Y44B (2) Ye6B

(3) Y88B (4) Z88B (3) Y88B (4) Z88B
11. ab__baa__ab_ 11. ab__baa__ab_

(1) aaaaa (2) aabaa (1) aaaaa (2) aabaa

(3) aabab (4) baabb (3) aabab (4) baabb
12. a_bbc_aab_cca_bbcc 12. a_bbc_aab _cca_bbcc

(1) bacb (2) bcab (1) bacb (2) bcab

(3) abba (4) acba (3) abba (4) acha



Directions (Q.No. 13 to 15)

Developing relationship among items on the left side
of sign :: find relationship on the right side of: : by
choosing from given options.

13.  Newspaper : Press :: Cloth : ?

(1) Tailor (2) Textile
(3) Fibre 4) Mill
14.  Thunder : Rain :: ? : Night
(1) Evening (2) Dark
(3) Day (4) Dusk
15.  Patrolling: safety :: Insurance :
(1) Finance (2) policy
(3) money (4) Protection

Directions (Q.No. 16 to 20)

In each of the following , four options have been given,
out of which three are alike in some manner and the
fourth one is different. Choose the odd one out.

16. (1) Graphite (2) Pearl
(3) Diamond (4) Coal
17. (1) Wages (2) Honorarium
(3) Salary (4) Pocket Money
18. (1) 263 2 1M
(3) 242 (4) 255
19. (1) 5788 (2) 5878
(3) 6482 (4) 9748
20. (1) ABDG (2) WLO
(3) MNPS (4) RSUY

21.  Inacertain code, THANKS is written as SKNTHA,
how is STUPID written in that code language?

(1) DIPUTS (2) DIPSTU
(3) DIPUST (4) DPISTU

22. If FULFNHW is the code for CRICKET then
EULGH is the code for which word?
(1) PRIDE (2) BRIDE
(3) BLADE (4) BLIND

23. If 'water' is called 'food', 'food' is called 'tree’,
'tree’ is called 'sky', 'sky' is called 'wall'. On which
of the followings grows a fruit?

(1) water (2) food
(3) sky (4) tree

fagew (yAs &: 13 37 15)

fis . @ ¥g uH Adu § Swe 98, s e me
U @ i F o feasut fEF mat feasy &t
9 ddd Ydr dd |

13. ™yH'd : i'[rr coFdUZT o7

(1) =gt (2) Zamefem

(3) setaEg (4) fus
14, do& EdST gy 79T

(1) ®H (2) T&TT

(3) fe& (4) eufas
15.  Patrolling: safety :: Insurance :

(1) Finance (2) policy

(3) money (4) Protection

faaew (YAS &: 16 3 20)
fGsfaradlad s s eI IT HB I T I WS ar
39|

16. (1) ddeTfee (2) W3t
(3) dfar (4) d&T
17. (1) Hwgdl (2) ASHS F37
(3) IBUT (4) ¥ ¥dg
18. (1) 263 (2 1M
(3) 242 4) 255
19. (1) 5788 (2) 5878
(3) 6482 (4) 9748
20. (1) ABDG (2) ILO
(3) MNPS 4) RSUY

21, fam @z F‘e‘%, THANKS ?;5‘ SKNTHA f&fumr
#wer d It @R g8 fe9 STUPID § fa="
fafunr sraar?

(1) DIPUTS (2) DIPSTU
(3) DIPUST (4) DPISTU
22. 7 FULFNHW, CRICKET @ a& d 37 EULGH
famer az d2ar?
(1) PRIDE (2) BRIDE
(3) BLADE (4) BLIND

23. i 'water' & 'food', 'food' & 'tree’, 'tree’ & 'sky’,
'sky' & 'wall". faar wier 3 3t e% fana €9
Ja7
(1) water (2) food

(3) sky (4) tree



Directions (Q.No. 24 to 27)

Read the following information to answer these
questions.

In a certain code language '816321' means 'the brown
dog frightened the cat'

'64851' means 'the frightened cat ran away"

'7621' means 'the cat was brown'

'341' means 'the dog ran’

24,  What was the code for 'the dog was frightened'?

1. 5438 2. 8263
3. 8731 4. 8714
25.  What is the code for 'frightened'?
1. 2 2. 3
3. 6 4, 8
26. What is the code for ‘away'?
1. 1 2. 5
3. 6 4. 7
27.  What is the code for the 'brown'?
1. 2 2. 4
3. 6 4. 8

28.  When Anuj saw Munish, he recalled," He is the
only son of the father of my daughter's mother."
Who is Munish to Anuj?
1. Brotherin law 2. Brother
3. Cousin 4,  Uncle

29. Kamal says," Ravi's mother is the only daughter
of my mother," how's Kamal related to Ravi.
1. grandfather 2. uncle
3. brother 4, cousin

30.  Mishu said," This girl is the wife of the grandson
of my mother." Who is Mishu to the girl?
1. father 2. grandfather
3. husband 4,  fatherinlaw

Directions (Q.No. 31 to 35)

In a school, there are five teachers A,B,C,D,E out of
which Aand B are teaching Hindi and English, C and B
are teaching English and Geography, A and D are
teaching Maths and Hindi, B and E are teaching History
and French.

31.  Which teacher(s) is teaching maximum subjects?

1. A 2. B
3. C 4. D
32. Which of the following pairs is teaching
Geography and Hindi?
1. AB 2. onlyC
3. AC 4. onlyB

fsgew (yas &: 24 37 27)

'816321' ¥T HZ&H 'the brown dog frightened the cat'
'64851" ¥ H=&H 'the frightened cat ran away'

'7621' ¥ H=&H 'the cat was brown'

'341' @ H3&H 'the dog ran’

24.  'the dog was frightened' & & @R ?

1. 5438 2. 8263

3. 8731 4. 8714
25.  ‘frightened' &" d& € H7?

1. 2 2. 3

3. 6 4. 8
26. ‘'away'®TdF ©H?

1. 1 2. 5

3. 6 4. 7
27.  ‘'brown'®T dF TH?

1. 2 2. 4

3. 6 4. 8

28. Wmsmgmw@ﬂﬁm%
HatE@a @twar e fugrerffagar i &’

HETH @7 wisd &% a1 fagar 37
1. A3 (AT 2. gdr
3. Y99I 4. WIS

2. awsafierd, gt v i ot feagat
g2l 4, aws & <l &5 4l fagar 37

1. Twr 2. WIAS
3. gar 4. TYIITIIT

30. g & faor, ‘fev szdl Hdt W & 03 &
uzat 37ty e sFat &5 Jt fauar 37
1. fuzr 2. =TT
3. y3t 4. HAJIIT

fsgew (yas &: 31 3 35)

fea maw f=9, i wfanwrua AB,C,DE 35, fagT
feg" An3 B fadt w3 saddt uz @ e us,Cwa
B waldsll #d Faig uzx@+ us, Aw3 D afez
w2 e uz'@e aw, Bwa E fefaam nid sdv

U=z asl

3. fauz wfomua e 3 v fed ua @ 07
1. A 2. B
3. C 4, D

32. oo wfumrug gdie w3 a6t uz@e gs?

I=BC
J<B B

1. AB 2.
3. AC 4.



33.  Which subject is teaching by more than two

teachers?
1. History 2. Hindi
3. French 4. Geography

34. A, Band D are teaching which subject?
1. English only 2. Hindi and English

3. Hindionly 4. Geography
35. Which teacher is teaching less than two
subjects?
1. A 2. B
3. D 4, none

Directions (Q.No. 36 to 40)

Six persons A, B, C, D, E and F were playing a game of
cards. A's father, mother and uncle were in the group.
There were two women. B, the mother of A, got more
points than her husband. D got more points than E but
less than F. Niece of E got lowest points. Father of A
got more points than F but could not win the game.

36.  Who won the game?

1. A
3. D
37.  Who got the lowest points?
1. A 2. B
3. C 4 D
38.  Who is the husband of B?
1. C 2. D
3. E 4. F
39.  Who was other lady except B?
1. A 2. C
3. D 4. E
40. Who stood second in the game?
1. A 2. B
3. C 4 D

41.  Kunal walks 10km towards North. From there,
he walks 6km towards South. Then he walks 3km
towards East. How far and in which direction is
he with reference to his starting point?

1. 5km West 2.
3. 7km East 4,

5km North East
7km West

33. fauzr fewr € I =0 sifuwyar ewmar

uzrfemT grar 37
1. fefaowm 2. faet
3. @49 4. ga
34. A B3I D fauar femr ua@v g&?
1. wdedta<s® 2. fddtw3waeet
3. fidta=e® 4. IS
35. fauzrwifommua ¢ 3° we fenr yz@er g7
1. A 2. B
3. D 4, e &t

faoew (yas &: 36 3 40)
& fema=3t A, B, C, D, EM3 F 30 us« a8 w3 féar
fe9 2 »iaa® 951 A = fuzgT, war ma was feq
e ufEggsI ATt I B U= U3t 578 famer
W 36, D T EFE fawmer ua F 578 wWe wa 751
EdtsdtengFwenaasIAefugTeF 3
U %d 951 Ud feg <t o aat i3 Afenm
3. damde fafan?

1. A .

3. D 4. F

37. mg I wewd fan & fws?

1. A 2. B

3. C 4. D
38. BETudle"&aHEH?

1. C 2. D

3. E 4. F

39. B3I fast Al #igz d& 97

1. A 2. C
3. D 4. E
40. 9 9 e+ d99 I de nrfemT?
1. A 2. B
3. C 4. D

4. 958 F3efer s 10fanil vger g, @F
89 6 fanit Tu= =5 g@er T w3 feg 3
fenit yaw 8 Toer 71 Gu wrue wrdfaa

fae 3 faat go w3 faw ferr €% 97
1. sfoitusy 2. 5 fait @39 yew
3. 7faityes 4. 7fdftuew



42.  Manik walked 40 m towards North, took a left
turn and walked 20m. He again took a left turn
and walked 40m. How far and in which direction
is he from starting point?

1. 20m East 2.
3. 20m South 4,

20m North
20m west

Directions (Q.No. 43 to 46)

In each of these questions, three words are related in
some way. The relationship among the words in the
question can best represented by one of the following
diagrams (1), (2), (3), (4). Mark your answer accordingly.

®0®F

43. Sun, Stars, Moon

44. Atmosphere, Hydrogen, Oxygen
45. Professor, Researchers, Scientist
46. Mice, Birds, Parrot

Directions (Q.No. 47 to 51)
Study the figure given below and answer the questions
that follow.

47.  Which number belongs to all the figures
1. 3 2. 4
3. 6 4. none

48.  What is the sum of the numbers which belong
to two figures only?
1. 6 2. 15
3. 20 4. 26

49.  Whatis the product of the numbers which belong
to three figures only?

1. 27 2. 162
3. 9 4. 144
50. What is the sum of the numbers which belong
to only one figure?
1. 5 2. 16
3. 2 4. 28

42. wisa 40 vt @39 fenr € Fezv 4, few
€F v 20 vt g5 T, fog B0 ¥vH yzor

d w3 40 Wt F'Ber 91 gga fie 3 Qo

faat ga m3 fan ferr <% 97

1. 20Mtygg 2. 20{t€39

3. 20MTTus 4. 20HtueH

fsgew (yns &: 43 3 46)
75, 8ust v gy o3 fo'39 (1), (2), (3), (4) T4t
TaATenT faprT I, AT €39 St 9= a9 |

® 0@

43. HoH, Id TEIHT

4. JTYHIS, TEIFIAS, WAAHE
45. Uend, v, fefamraa

46. gar, U=, 33T

fagew (yas &: 47 3 51)

@9 feb |

47.  fao=t fifanr e fo'get fee 37

1. 3 2. 4
3 8 4.  qEt &
48. Quat ffunret v Az uaTad A @ fegat
feg 957
1. 6 2. 15
32 4. 26
49. Quat fAfunret o greses uzarad + f3&
ICECMEEELT
1. 27 2. 162
3. 9% 4. 144

50. Guat Afvmr=t e A3 U3 a4 A fAge fea
foze feg as?
1. 5 2. 16
3. 2 4, 28



51.  Whatis the product of the numbers which belong
to two figures only?
1. 64 2. 144
3. 384 4. 216

Directions (Q.No. 52 to 56)

The following questions are based on the information
given below:

Data on 450 candidates who took an examination in
Social Sciences, Mathematics and Science is given
below:

Passed in all subjects: 167

Failed in all subjects: 60

Failed in social sciences: 175

Failed in Mathematics: 199

Failed in Science: 191

Passed in Social Science only: 62

Passed in Mathematics only: 48

Passed in Science only: 52

52. How many failed in Social Science only?

1. 15 2. 21
3. 30 4, 42
53. How many failed in one subject only?
1. 152 2. 144
3. 61 4. 56

54. How many passed in Mathematics and atleast
one more subject?

1. 210 2. 203
3. 170 4. 94
55.  How many failed in two subjects only?
1. 56 2. 61
3. 152 4. 162
56. How many passed in atleast one subject?
1. 450 2. 390
3. 304 4, 167

57. Inan examination, a student scores 4 marks for
every correct answer and loses 1 mark for every
wrong answer. If he attempts 60 questions in all
and scores 130 marks then the number of
questions he attempts correctly, is
1. 35 2. 38
3. 40 4, 42

58.  Seven children take part in a tournament. Each
one has to play every other one. How many
games must they play?

1. 42 2. 28
3. 14 4. 21

5. QustAfywres ev greses yardd i ©

fogat few a7
1. 64 2. 144
3. 384 4. 216

faoew (yas &: 52 3° 56)
Jat fe g yew o4l guar 3 mwofaz o
450 fefenradint & mfaa e, aifea wa
fefamirs 21 yitfunr gr grer a5t forar O
A fefimt fgg um: 167
d =i IS99 s5 : 60
e fhonr i 2w 175
feafeses: 199
feforrs fes'@s: 191
arfra o 99w - 62
gifes €9 uw: 48
fefamrs f€9 uw : 52

52. fa& fefenrat mirfaa e f&9° &5 987

1. 15 2. 21
3. 30 4, 42
53. faa fefewradl fe'g few &9 v TE7
1. 152 2. 144
3. 61 4. 56
54. fa& fefenradt afeawa we wefegda
few fe9 un &7
1. 210 2. 203
3. 170 4, 94
55. faad fefenradl € fefimt f9 &% Ju7
1. 56 2. 61
3. 152 4, 162
56. faa fefemmadt we we foa few fegumas?
1. 450 2. 390
3. 304 4. 167

57. feaifinr feg, fe'q fefemmadt & goa mat
€39 € 4 W fHBE I& M3 IBI € 1 W
deer 1 H GRS IF 60 YAS a3 I i3
€ne 130 899 J< 3T AAt €39t & farest

oH?
1. 35 2. 38
3. 40 4. 42

58. A3 Y feq ggane f<agarde us, 99
TET S OH I H9 &8 Uz d, Gu fas
IERECT
1. 42 2. 28
3. 14 4. 21



Directions (Q.No. 59 to 61)

A cube is coloured red on all faces. It is cut into 64
smaller cubes of equal size. Now, answer the following
questions based on this statement?

59.  How many cubes have no face coloured?
1. 24 2. 16
3. 8 4. 0
60. How many cubes have one face coloured?
1. 4 2. 8
3. 16 4. 24
61. How many cubes have three coloured faces?
1. 24 2. 16
3. 8 4. 4

Directions (Q.No. 62 to 68)
Find the missing character in each of the following
figures.

62. FAY

i 5l
%
1. 190 2. 221
3. 236 4. 255
63.
I I
A 1 K
i M 1
1. P 2. R
3. S 4. Vv
64. 3 5
2 I
i L
7
1. 5 2. 12
3. 13 4. 26

fsaew (ums &: 59 3 61)
feq we § 99 wimn 3° &% Jar a137 dfemr 3,
fea @nd 64 8¢ fod nag @ wat feg afentr

T &, dof o3 unst & €39 b

50. fad wet < aet <t ui 3 Jar aat 97
1. 24 2. 16
3. 8 4. 0

60. faad w=t e fe'a unAT dfaprr dfewr a7
1. 4 2. 8
3. 16 4. 24

61. faa wet v f3s ud Jai 9¢ 957
1. 24 2. 16
3. 8 4. 4

faaew (uas &: 62 3" 68)
dJ&t fe'd gda foge e 7 et aar = =8
HYyd A Hd e yIT ad |

. A
] (L1
127 ]
%
. 190 2. 221
3. 236 4. 255
63.
: I
il | K
I M ?
P 2. R
3. S 4, VvV
64. 3 5
2 11
i | ]
7
5 2. 12



65

21
25
35
36

o~

66

12

67

13
15
17
19

e

68

12
18

o p =

Directions (Q.No. 69 to 73)

Each of the following questions consists five or four
figures called the Problem figures followed by four
other figures 1,2,3, and 4 called the Answer figures.
Select a figure from amongst the Answer figures which
will continue the same series as established by the
Problem figures.

69. Problem Figure

Ieidle

A B C

Answer Figure
2 4

1 3

21
25
35
36

el

12

13
15
17
19

el

12
18

o p =

faaew (U &: 69 F 73)

3 yrs fesam3 Bust e s @ v fese 1,2, 3,
"3 4 fe'3 75 i § €°39 fo'se afde us; feost
feS Aat €739 & < a9 A yrs foso et fe st 53t
yarad |

llo‘la

69. —

Al bl

P D

1 2 3 4




70 Problem Figure

1 S
_
4

A B C D

Answer Figure

7. Problem Figure

Answer Figure

L {Helet5

D

Problem Figure

>

3

Answer Figure

. D

A
FIFHIT
1 2 3 4
72, Problem Figure
@ ClY)C
A B C
Answer Figure
0©e©
73, 1 2 3
L2

70

.

72,

73.

unas faag
1 N
— -
<

A B C D E
€39 fase
7 I ]

1 2 3 4

U fagg

F{"
=
(:&_T

B [ n
[ ] L ]
L
[ ]
» » [ ] L ]
1 2 3 4




Directions (Q.No. 74 to 77)

Figures A and B are related to a particular manner.
Establish the same relationship between figures C and
D by choosing a figure from amongst the four
alternatives, which would replace the question mark
in figure D.

74. Problem Figure
@ DD ?
A B € D
Answer Figure
1 2 4 *
75.
Problem Figure
O
L oCUnT ?
A B € D
Answer Figure _
gl (O Tﬂ
LI
1 2 . *
76.

Problem Figure

Y| ?

B Cc

Answer Figure

VI

1. 2. 3. 4,

10

foouw (yas &: 74 3 77)

fo'ga Am3 Bfew ov &5 fan Idid & mifuz
as, @t o Cwa Dfea w9 d faga Dfes,
fe3 feasy’ <9 Aal [<asy €t 9= a4

JLCEE
HOLI®
r©ojw1 ?
L L%TH
AT
AR



7.
Problem Figure

LS| 2

B C D

Answer Figure

2
B8]

3. 4,

Directions (Q.No. 78 to 79)

In each of the following questions, you are given of
four alternatives, choose the correct alternative which
most closely resembles the mirror image of the given
combinations.

78. ANS43Q12
(1) ANShEOLS (2) SFOENSUA
(3) 2NAENOSH (4) PSOMEANR

9. -
Question Figure Answer Figure

2 [elelzley

gLe (1) ) @) )

80. A clock seen through a mirror shows quarter
past three. What is the correct time shown by the clock?

1. 945 2. 915
3. 845 4. 315

Directions (Q.No. 81 to 82)

Each of the following questions, you are given of four
alternatives, choose the correct alternative which most
closely resembles the water image of the given
combinations.

8. BK5ORP62
(1) BM20Kb9S (2 BKR0OKbES
(3) BKR0Y¥beS (4 BKSOY¥bES

82. ,
Question )
Figure Answer Figure

11

%qu ?
3-B-[8[%

feodw (yms &: 78 37 79)
feawy &t 9= ad # f&3 fo'ze 7 que e §E

78. ANS43Q12

(1) ANShEDLS (2) SrOEPCUA
(3) SUAEDOST (4) FSOPEANC
79. o
s fo3e | ga3 e
T ) @ 0 )

80. A clock seen through a mirror shows quarter
past three. What s the correct time shown by the clock?
1. 945 2. 915
3. 845 4. 315

faaew (yas &: 81 3° 82)

It fefant yast et 99 feasy feg 9w, mat
feasu &t 9= ad # fe 2 fo 39 #f gue =7 U=t
= Fat uZtfhg 921

8. BK50RP62
(1) BI20Bb9S (2 BKR20BbeS
(3) BKR0YbES (4 BKSOYbES




Directions (Q.No. 83 to 84)

In the given questions, figure X is embedded in one of
the given figures 1,2,3,4, trace out the alternative figure
which contains figure X as its part.

83.

Question
Figure Answer Figure
A BANG
o i (&4 I -_ J
84.
Question
Figure Answer Figure

&

xh

e

&

1l

IEille

[T (5]

Directions (Q.No. 85 to 86)

In the following questions, select a figure from amongst
the four alternatives, which when placed in the blank
space of figure X would complete the pattern.

85.

Question
Figure

7y
o ?
(a4

Answer Figure

2] ¢ e

3] ] i3 14
86. Question
Figure
@ Answer Figure
[o]w)
3 [ oo
27| | B H B
X 1] (t 1] (51} (L]

Directions (Q.No. 87 to 88)

In the given questions, a set of three figures X, Y and Z
showing a sequence of folding a paper and these three
figures are followed by four answer figures from which
you have to choose a figure which would most closely
resembles the unfolded form of fig Z.

87. Question Figure
X
Answer Figure
o ¥ o ¥ < Y "
o A D0 : 0,5 ) 70 :
5 9 B9 bBY o4

) % i)

12

fsaew (yas &: 83 37 84)
feg st &9, foge fo g fogar 1,234, fe9
famr dfemr 71 Aat 939 &t 9« ad1

83. e o |
A A
84. _— .

'

i

1]

It

[1]]

&

1

a

xh

faoen (yas &: 85 3° 86)
@ §= a9 i fe'gq X <9 €T Tevs & yor ad|

85. | s fesa
E'Eﬁ;b CECACES]
; 7] | L4
2| P
(5 4] {1y i) Al (4
B, s
@ CECAEES]
Q7] ¥ K
X in i .[.n iy

fsgew (yas &: 87 3 88)

feg s X, YnIzfe3 ga v fequumega &
wat feasy @t 9= ad # faza zd uw & mrfagat
g2 |

87.
X

“o ¥ Vo ¥

o o

5 9 b P4

)



88.
Question Figure
: i
1 H i B 3
- o
2 L
X Y z
Answer Figure
L S i Pﬂ
4 <4 & N EN
i in i 1L

Directions (Q.No. 89 to 90)

In the following questions, from amongst figures, select
the one which satisfies the same conditions of
placement of dot as in figure X.

89.
Question Figure
N
Answer Figure
* FRES
o i (1] 1l
90.

Question Figure

P Wl

v

Answer Figure

T POV

91.  Aconvex lens of power P is immersed in water.
How will its power change?
1. Increases
2 Remains Same
3. Decreases
4. Increases forred colour and decreases for the
blue colour

92. Whatis the frequency of sound wave whose time
period is 0.05 second?
1. 5Hz 2.
3. 1000 Hz 4,

0.05Hz
20 Hz

i

i
- IS =
A I Y
X

bk ti. X

CECACED
L N S I rﬂ
RV Ll I PR A

fsgen (yas &: 89 3 90)

fe2 ynst fee, o3 fozat fee @n foge &
d¥e ad # fagq & fae &t afast <9d as3t
MEAd B ae’ d=

89.
)
CECACES]
" QRS
L] i (1] 11
90.

¥

SECASES]
" PPV

91. fora §aw dxwd wal feagu fFar famr 3,

ferdt maat fae sosaly
1. Zga=an
2. ae ufggags &0t
3. wWE =t
4. % Jd1 BE UL I WF 1 997 ZE weet
a1
92. Gw zdar &t nieaat Fat a2an fawer wrewa
g5 oos ifdz
1. 5Hz 2. 0.05Hz
3. 1000 Hz 4. 20Hz



93.

94,

95.

96.

97.

98.
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Which of the following has maximum kinetic
energy?

1. lce particles at 0°C

2. Water particles at 0°C

3. Water particles at 100°C

4.  Steam particles at 100°C

Which of the following figures represents negative
acceleration of a moving object correctly?

2.

Velocity
Velocity

Time Time

Velocity
Velocity

Time Time

A light ray is incident on a mirror in
perpendicular direction. What will be the angle
of incidence and angle of reflection?

1. Angle of incidence = 0° ; Angle of reflection = 0°
2. Angle of incidence = 0°; Angle of reflection = 90°
3. Angle of incidence= 90°; Angle of reflection = 90°
4. Angle of incidence = 90%Angle of reflection = 0°

What would be the cause of 'Far-Sightedness'
defect of eye?

1. Increase of focal length of eye lens.

2. Shortening of eye ball

3. Elongation of eye ball

4, Both1and?2

The Earth attracts the moon with a gravitational
force of 102N. The moon attracts the earth with
a gravitational force of -

1. Lessthan 10®N

2. 10®N
3. Greater than 102N
4. 10N

Which gas is used in liquid form as a fuel in
the rocket?

1. Argon 2. Hydrogen

3. Nitrogen 4.  Carbon dioxide

93.

94,

95,

96,

97.

98,

feust fe'a fan fea rg F* u afaw Gewr d=t
d7

0C=mmsvas
0°Custaa=

2.
1. 100C = u=t ¥ a=
4.

100°C T Fe T &=

78 wone aret @9 faugr arw foeawa
y=ar argt @anler J1

N
U

yaw @1 feq fags a¢ fan gauzs 3 &9 gy
o9 eaa@%l d 3" Wuas d= wd ua=dda
d< df J=ar?

1. WEsdz =0, wsigsdz =0°

2. wnEsdx =00; ygeags d= = 90°

3. s aF = 90°; u@=eEads d= = 90°

4. w3z ax =90°; yF=agE d=x =(0°

Y ¥ gd [eudl ¥u d& ¢ df ade J Aad 957
1. 339 85w €l dan wal er U e

2. FEETESTJ ATET

3. FEOFFIAE

4. 1wWI 29

¥ad gadl, deanr & 102N ¥ Ig3™ middnE
g% &% nirading geel d 3t venr gadt &

fas a8 &% nradiaz adar?
1. 10®°NF we

2. 10®N

3. 10NF =1

4. 10%N

Fae f9 wee @ gy &9 faudl dm e= gy
<9 Quiiar 3=t a7

1. s 2. TEIFESAS

3. FEEHS 4. TIUS TEMEAATET
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An object is placed at a distance of 10m in front
of convex mirror. What will be the position of
the image formed?

1. OnF 2. BetweenFandC
3. AwayFromC 4. BetweenPand F
During short circuiting what happens to current?

1. Decreases

2. Increases

3. Firstincreases then decreases
4.  First decreases then increases

The inertia of a moving object depends on :-
i.  Mass of the object

ii. ~ Momentum of the object
jii. ~ Speed of the object

iv.  Shape of the object
Choose the correct option
1. iandii 2.

3. Onlyii 4.

Onlyi

jii and iv

3003, 50Q2 and 80Q2 resistors are connected in
series, what will be the resultant resistance ?

1. 120Q 2. 140Q
3. 160Q 4. 170Q

What does the Right - Hand Thumb rule give ?
1. Thedirection of the generated electric current.
2. The amount of electric current generated.
3. The direction of the generated magnetic field.
4. The size of the magnetic field generated.

The mass of an atom of nitrogen is

14 28

1. 6.023x10% 9 2 6.023x10% 9
1

3 6.023% 107 g9 4  14amu.

The number of neutrons and electrons present
in the species Hj’ respectively

1. 0,0 2. 0,1
3. 1,2 4. 2,3

Bond length between carbon - carbon atom in
diamond is

1. 134A° 2.
3. 140A° 4,

1.54 A°
1.70 A°

99,

100.

101.

102.

103,

104.

105.

106.

d81 TAF 10 Mied &1 gdl 3 @38 wauz
& rrone uet &, s yIifde &t mfast &t
d=ait?

1. F= 2. FwaCefegay
3. CIFuat 4. PwaF e fegaw
H'd¢ Adfedl 9a7& dde 3 dt yg'= Uer 47
1. weerd

2. Uy

3. ufgstTuerd fegweer d

4. ufgstwee 3 fegTmer o

fe'q au«l @ng & Ag3 fen 3 fsa99 qevl 9
i. ®AFEUA

i. <A e AL

i. =Az e IE

V. <Ag T RS

A4l feasuy 92

L. i i 2. fHami

3. fragii 4, i=Ziv

30Q, 50Q i3 80Q & Bt g Haae f<g vifamr
fapyr 3, f3=t yJiduat v 378 yJidu uzr ad|

1. 120Q 2. 140Q
3. 160Q 4. 170Q
AT I8 warsT fswu &t ener 37
1. e 9t feast oo & femr

e I8t fgerst grar & Wraar

2
3. e JF 994t g3q o fewr
4. e ¥ duat 439 @ wad

areledns © feq uawe er Uq &
14 28
- so0mx107 0 % 6023x107 ©
1
3 6.023x107 9 4. 14amu.
Hf fe's fa@ast 3 fedagst @t que
faresat 4
1. 0,0 2. 0,1
31,2 4, 2,3

dld f<g araus-arous uan'e fevad dus
& guret 4~

1. 134A 2.
3. 140A° 4.

1.54 A°
1.70 A°
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Among the elements having the atomic number
2,3, 4,10, 11, 12, 18, 20, 26, 36, 38, 56, and 87
which element belongs to the alkaline earth
metals.

1. 2,4,10,18,56 2.
3. 4,11,20,36,87 4.

4,12, 20, 38, 56
4,12, 26, 56, 87

Calculate the molarity of water if its density is

1000 kg/m?.
1. 55.56m 2. 55.56M
3. 5.556m 4.  5556M

Which of the following is the correct order of
relative sizes?

1. I >I>1 2. I'>I>1
3. I>1>T 4. T >1>T
35~ 37 40 40 .
Cl Cl A C
177 13 and 18 r, 20 a are respectively
examples of

1. isobars and isotopes
2. isotopes and isomers
3. isomers and isobars
4. istopes and isobars

Vinegar is a solution of

1. 30% - 40% acetic acid in alcohol
2. 5% - 8% acetic acid in alcohol
3. 5% -8% acetic acid in water

4. 15% - 20% acetic acid in water

An element X with atomic no 12 combine with
another elementY of atomic no. 17. The formula
of the compound and nature of bond will be

1. XY, covalent 2. XY, ionic

3. X,)Yionic 4. XY covalent

Which of the following is the correct order of
reactivity of elements
1. Zn>Ni>Fe>Pb
2. Pb<Sn<Fe<Ni
3. Al >Ni>Fe>Pb
4. Pb<Sn<Ni<Fe

Which of the following bonds will have
directional characters?

1. lonic bond

2. Covalent bond

3. Metallic bond

4. Allionic covalent and metallic bonds

107.

108.

109.

110.

11.

12.

13.

114,

33 fAat T yaHE Wd qHIT 2, 3, 4, 10,
11, 12, 18, 20, 26, 36, 38, 56, MJ 87 IS,
fe9 MBamEs »i9g T3t (Yt gaIuTaT
J6):—

1. 2,4,10,18,56 2.
3. 4,1,20, 36,87 4.

4,12, 20, 38, 56
4,12, 26, 56, 87

Hda uat & wE3T 1000 kg/m® I+ G
H&Tgel d<ail:

1. 55.56m 2.
3. 5556m 4,

favsfafyz &9 mifua »rarg e Aot o
ot a7

55.56M
5.556M

1. T >I>1 2. I'>1>1
3. I>1>1 4. T >I>T1
35., 37 - 40, 40
Cl A Pe Grrgge
17¢1 330 M3 A,y Le R G

J&-

1. AHIad W3 AHAE S et
2. FAHAETSE WT A

3.  AvWEE W3 AHgTfaa St
4.  AHAEET W= AHFT{aa ST

fAgar W% J:-

1. wBaas fg 30% - 40% wivtfea wing
2. wBIIE 9 5% - 8% wivtfex #winz
3. ust &9 5% - 8% wivifea wifnz

4.yt f29 15% - 20% wivtfea #inz

fea 373 X fane uvane #Aa 124, fe'q gnd
I Y fan er uawE HF 17 7 578 gIeT I
wfara o e aysT miZ AI™ I=am: -

1. XY,Aforast 2. XY, #rfest

3. XYwrfest 4. X)Ywforgst
fawsfsfyz feg fagzr I3+ <
fafanreteaT e Aat o d:-

1. Zn>Ni>Fe>Pb

2. Pb<Sn<Fe<Ni

3. AI>Ni>Fe>Pb

4. Pb<Sn<Ni<Fe

sagneer 9.

1. wrfest Jus

2. RAfgAGHT s

3. UI<i gUS

4.  wpfeal, AforEHT W3 oa<t 9us Ad
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Zn + H,0 (steam) — A+B. In the above equation
(A) + (B) are

1. Zn+H, 2.
3. ZnH,+0, 4.

Zn0,+0,
Zn0 +H,

The number of atoms in 4.25g of NH, is
approximately

1. 1x10% 2.
3. 4x10% 4.

2x10%
6x10%

The protein and lipids essential for building cell
membrane are manufactured by

1. Endoplasmic Reticulum

2. Golgi apparatus

3. Mitochondria

4. Peroxisomes

Which among the following have on open
circulatory system?

a. Arthropoda b.  Mollusca
c. Annelida d. Porifera
1. (b)and(c) 2. (a)and(c)
3. (a)and(b) 4. (b)and(d)

Which one of the following is incorrect about
tuberculosis?

1. It commonly affects lungs.

2. ltis caused by saimonella.

3. Bacteria release tuberculin toxin.

4. Patient's sputum contains blood

Enzyme which is absent is pancreatic juice?
1. Amylase 2. Lipase
3. Pepsin 4. Trypsin

Aerolar connective tissue is found in
1. Blood vessels and nerves.

2. Skin and muscles.

3. Inthe bone marrow.

4.  Allthe three above.

Which pitutary harmone controls ovulation in
human female?

1. LH 2.
3. Growth Harmone 4.

FSH
Thyroxine

118.

116.

117,

118.

119,

120.

121.

122,

Zn+Ho (=) - A+B. Gudas mitade f*9
(A) + (B) T~

1. Zn+H, 2. In0,+0,

3. ZnH,+0, 4. ZnO+H,

4.25 37W NH, f<"9 uawrent €1 nings Afunr
g

1. 1x10% 2.
3. 4x10% 4,

2x10%
6x10%

A% fyst @ fsanre met U&1s w3 gadt Agat
7%, # faw g fagfvz 4= as?

1. wIusadt a8
2. arEdt et
3. WEleA T FdrmT
PR

a. MIEIUST b. HEHAT

c. sz d. Udtear

1. (b)m3(c) 2. (a3 (c)

3. (am3(b) 4. (b)ym3(d)
Fufea 99 35 fefipnt (&9 fagar awa 3
1. feg i 99 3 Sefamt & yafes aaer d1
2. fegweids € a9 do 3

3. Haeldhnr feGuaafss afrs gav 751
4. Wil ¥ ¥d ff9 ys dev d

% ¥ an &9 fauar fearey &at dert
1. "HEEH 2. FEUR

3. lufrs 4. foufms
241@®a vigd few faw wien aier 47

1. y8 (It w3 SEe|

2. SHE »F WRUHEMT

3. Tl femg ee

4. Quiaz 35

W& ol wer f&9 faggr fugBedt oviis #w
GIreds & deds dger d1

1. LH 2. FSH
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Electrical impulse travels in a neuron from

1. Dendrite — axon — axonal end — cellbody
Cell body — dendrite — axon — axonal end

Dendrite — cell body — axon — axonal end

B wn

Axonal end — axon — cellbody — dendrite

Two pea plants one with round green seeds
(RRyy) and another with wrinkled yellow (rrYY)
seeds. When F, Plants are selfed, the F, progeny
will have new combination of characters, choose
the new combination from the following

Round Green.
Wrinkled, Green.

a. Round Yellow. b.
c.  Wrinkled, Yellow. d.

1. aandb 2.
3. bandc 4.

aandd
aandc

The question has come to the mind of Sneh that
the rocket probably also use fossil fuels such as
petrol and diesel. Next day upon asking the
teachers, the teacher said that has gas used in
liquid form as a fuel in the rocket. Which gas is it?

1. Hydrogen 2.
3. Nitrogen 4,

Argon
Carbon dioxide

Match the columns

A. Darwin (i) Inheritance of Acquired
characters

B. Lamarck (i) Inheritance laws

C. Mendal (iii) Natural selection

1. A(i) B(i) Ciii)

2. Aiii) B (i) C(i)

3. A(i) Bfi) C(iii)

4. Afiii) B(i) Cf{i

The level of which vitamin is kept high in poultry
feed

1. BandC 2.
3. DandK 4,

Aand K
CandA

123,

124.

125.

126,

127.

Faer J7

1. FFIER > wans - 5751 fAer - Az T3t
5 g9 - FFae > Hans — ot fie
FFavle - 7w 7751 - wiens - &=t
&TE1 fRaT — WaRE — RS T3t — FFTE

£ o I

¥ Wea ¥ U9, fe'g @ 99 3t 3 99 (RRyy) w3
oH ¥ g7 ot =78 Wi (nYY) e F Ags @
nfsigs 3" aoe F, uidt & fias &< seet
¥ fieas yeafaz ade 951 80 &2 fimas fags
TJE |

a. dJimutE b. dI®Td
c. gogmtsdulE d. gwogtet =78 o9
1. awab 2. awFd
3. bwIc amI ¢

Aad € W& &9 yas nifewr § fa orfee ade
o9 <t vyge w8 fa< Uedw, Fiaw ot =93
€T 7 18 fes mifua 3° y'es 3 sifpua
& et fa gde ffg wwe gy fee feq din
v v gy fe'e Quiiar e 1 G din fagst 41

1. JEEHs 2. wWads

3. SEHS 4. o99& FEPTIHEF

auy fuse ad

A Fafes iy dioedFsss
mE<faaaT

B. ®&wWaa iy wEefaaar & famy

C. #zm (i) FogdtEe

1. A(i) B() Ci)

2. Aii) B(i) C (i)

3. A() B{(i) C (i)

4. Afii) B() C (i)

ugedt @tz fe9 fava feefus e v @9

e mrer 37
1. Bm=C 2. Awm=K
1. Dw=K 4. CwFA
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Below figure shows pyramid of biomass at
different trophic levels. At which trophic level the
biological magnification of DDT would be highest?

_Pelican | E
Large Fishes |D
| Small Fishes | c

| Zoo Planktons |B
| Phyto Planktons | A

1. AtA-only 2.
3.  AtE-only 4.

At A&C
At A&B

Which among the following statements are true
for unisexual flowers.

a.  Theypossess both stamen and pistil

b.  Theypossess either stamen or pistil

c.  Theyexhibitcross pollination

d.  Unisexual flowers possessing only stamens

cannot produce fruits
1. aandd 2. b,candd
3. candd 4., acandd

In higher chordates, notochord is transformed
into

1. Vertebral Column 2.
3. Limbs 4.

Cranium
Both 1and 3

One of the factors of (z-2p)(z-5p)(z-8p)(z-11p) +
81ptis:

1. z213pz+31p? 2
3. z>18pz+31p? 4

22+13p z +31p?
Z+13p z - 31p?

If tan + sin® = m and tand - sind = n then find
the value of m2- n2

1. 2dmn 2. 4mn
3. 4mn 4. mn

On dividing the sum and difference of two
numbers with the product of these two numbers,
7 and 5 is obtained respectively. The value of
the greater number will be:

(R 2.

3. 113 4. 16

If the mean of first 'n’ natural numbers is ?—? then
nis=

1. 9 2. 10

3. M 4. 12

128.

129,

130.

131.

132.

133.

134.

ds feg foge fev #te i ¥ fusfuz fev
WAt U J9ATE I 35| fam wrgdt v 3
dfew =8 a9 3 <7 I<ar?

| Twtes |E
ot it | D
| &Pt it | C
|gru23a2‘5 |B
| ez udEes A

1. desAZ 2. a=esAmaCT
3. g=8EF 4. T=BEAWMIBI
fauzr ags fo'q fdaf 5 st A9 T

a. BsTIBUIAT w3 feradtanad|

b. €I&ta® AT AT fer3dt aRgIeT I |

c. GuuaugaEaIE TS|

d. e f&ait a% a=% Jongd 76 M3 Bv %

ERIR: A

amad 2.

) b,cmad
3. cm3d 4.

a,cm3d

&9 doden &9 52393 fan 9 Iudls J
r= e i

1. d@des 2
3. U9

e

= 1WT 3
(z-2p)(z-5p)z-8p)(z-11p) + 81p* &~ e Fr=m iz
d:

1. z213pz+31p* 2
3. Z-18pz+31p? 4.

Z*+13p z +31p?
22+13p z- 31p?

Had tand + sind = mand tan0 - sind =n J= 37
m2- n2 @7 Y & U=T d4:

1. 2Vmn 2. 4mn
3. 4mn 4. \mn

° Afurst & d3es w3 #izq § fegt
Afinr=et @ gIeses &8 <3< 'F a9
7 M3 5 yuF der J1 fegst feed <31
At 4

1. 1 2.

3. 13 4. 106

HAaa gt 'n' yriagza Afunr=f e Hows
?—? denE Y& dedm:

1. 9 2. 10

3. M 4. 12
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135. 25 cards numbered 1 to 25 are kept in a jar and

136.

137.

mixed well. One card is drawn from the jar
randomly. The probability that the selected card
bears a numbers which is neither divisible by 3
nor by 5 is:

1. 11/25 2.
3. 13125 4.

12125
14/25

If the graphs of equations 7x -2y=5 and kx+7y =
15 intersect at a point which lies on the graph of
equation x-y=0, then find the value of k:

1. 8 2. 1
3.1 4. cannotbe
determined

Product of any three consecutive even natural
number is divisible by____.

1. 6 2.
3. 14 4.

12
16

138.  Which of the following statement is true?

139.

140.

1.

If corresponding angles of two triangles are
equal, then these triangles are congruent.

A quadrilateral whose four sides are equal, is
asquare.

A quadrilateral whose four angles are equal,
is a square.

The sum of the exterior angles of a triangle is
360°.

If the angles of AABC areinratio 1:1:2 respectively
(the largest angle being angle C), then the value of
secAcosecB-tanA cotB s
1.0 2.

3. 1 4.

72
312

The value of ("3217.3v3 ) ("V/55+12y21) is:
12 2 1

3 0 4.

135.

136.

1317.

25 avgat '3 1 F 25 I Wyt fay  fegst
& fe'q ae i< Jait gt fusfenr fapr 31 few
a9 fo'q ada mavsd J e e 41 few
@l dt fraves J fa a2 are gz '3 el fifumr
& 3t 3 5% I I W3 &7 I 5 5

1. 11/25 2.
3. 13/25 4.

12125
14/25

AHidaET Tx -2y=5"3 kx+Ty=15¥ are feq
fiv '3 aee 98 # fa mitgge xy=0 €
WBY I AfaI J1 k &7 'S I=am

1. 8 2. 1

3. 1 4. ooz 5
3T AT AIET

far <1 {35 sarawa fara Yiaaa Afunr<t

1. 6 2. 12

3. 14 4, 16

138. % fmy aas ¥ faogmdl O

139.

140.

1.

Aag e fagare M ae soEg i I
o gaagw faw et wdtwt garet
WE s, Fa g e T

89 g3zagy fm € /9 &2 S99 0%,
feg=maryerd

fem fagw @ wust @ or HE 3600 deT
J

AABC & @&t &7 wigu'3g 1:1:2 J| fene™ A9
I TFd= CJ IsecAcosec B-tan AcotB
T HEB UITAT|

1. 0 2.
3.1 4.

72
312

(" N7-3v3) ("N55+1221 ) ETHE T:
I 2 2 1

3 0 4. 41
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In the given figure DE || BC, AD =1 cm and
AB = 4.5¢cm. If coordinates of E and C are
respectively (-4,6) and (3,-8) then coordinates of
point A will be:

A
E
B C
1. (6,10) 2. (-6,-10)
3. (6,-10) 4. (-6,10)

The mean of first four terms of an AP is x and
mean of the last four terms of this AP is y. Then
first term of this AP will be:

11x - 3y 3x-11y
=g 2. =g
8x - 3y Xty
3. S 4, 5
If 30 = 5° = 225 then value of = is:
= 5" =225 then value o (a+b) IS*
1. 1 2. Y
3. 2 4. 15

If first, second and last term of an AP are x,
y and z respectively then the sum of this
A.P. is

2(x-y) ' 2(x-y)
(x+2)(2x-y-2) (x+2)(2x-y-2)
3 20 20)

For a school trip, a bus has been hired in Rs.
52,500 and it was decided that this amount will
be equally shared among the students going for
that trip. A certain number of students gave their
consent initially. But later, 25 more students had
given their consent, due to which bus fare per
student has been decreased by Rs. 350. Find
the number of students who initially gave their
consent.

1. 55 2. 50
3. 65 4. 75

141,

142.

143.

144,

145.

fe'2 arg fe39 few DE||BC,AD=1cm
W3 AB = 4.5cm J1 A9 et EmM3 C @
fagem via H="a (-4,6) w3 (3,-8) I= I fiw
A¥ faaew #Aa J=ai:

A
E
B C
1. (6,10) 2. (-6,-10)
3. (6,-10) 4. (6,10)

fe'a AP ¥ ufa® 4 yet @ HOW's x J W
few AP ¥ fug® 4 uet v yuws y I few

AP &T ufasr ye J=arm
11x - 3y 3x-11y
1. —g 2. —5
8x - 3y Xty
3. —5 4. 5

DU - | VETSIN
A9 3= 5 =225 IS 37 (,p) TTHE IS

1. 1 2. Y
3. 2 4. 15

Had feq vgafezaa 83t e ufosT, gar
w3 wifaw ue x,y w3 zd 37 fen vigarfeaa

sl er d3e® u3r dd|
1 (x+z)(2x+y-z) (x+z)(2x-y+z)
' 2(x-y) 2(x-y)
(x+z)(2x-y-z) (x+z)(2x-y-2)
3 2 26c)

fea ngs 2fou '3 A< et feq a7 52,500 gue
fe'g fage 2 A3t aret w2 fene faae § 2fou '3
e 8 fefonaatyt &9 gorg9-2 &3 @
ensT a3 farm| few 2fou 3 Are &t gt
uu9 3 gF fefenmagiit & nmust rfonst fe St
ud ge feT fen 2fou »et 25 99 fefommaatnt &
Afonst fest fam a9s a7 e fagrfenr y3t
fefemmagt 350 gue we fapuT| Femst Uue '3
MUSt AfonSt @< o8 fefemradtt & faest
u3Tdq|

1. 55 2. 50

3. 65 4. 75
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Inthe given figure AB=BC=CD=DA=DB=6cm and
PA=PC=14 cm. The length of PD is:

11 cm

10 cm P
13 cm

6v3 cm

=

C

A solid right circular cylinder of radius R is
melted and converted into a solid sphere of
radius r. If radius of the sphere is half the height
of cylinder then.

1 R=\/% 2
3. @R:\/gr 4.

V3R =12r
R=V3r

AB is a line segment whose midpoint is M.
Taking AM, BM and AB as diameters three semi-
circles are drawn on the same side of AB. A circle
is drawn with radius 'r' touching all the three

146. fe'3 are fe'3a ff9AB=BC=CD=DA=DB=6cm

and PA=PC=14 cm & =7 PD &t &97¢t d=4it:

1. Mcem _
2. 10cm P
3. 13cm
4. 6V3cm
c

fe'a &0 &9 Iadl 98 fane maufenw
RI, & fuwsT & r maufenn =var fe'q 8w
digT gErfem famr U1 dd9 8 €
waufen™m 585 ©f Guet ernigr g@ It

r
1. R=@ 2. \3R=\2r
3. \/iR:\/gr 4, R=\/§r

AB fe'g 3y 43 J fAarer Haffg MJ| AM, BM
3 AB & »aufen™ 34 AB € fed U 35
"dU 9 a9 fY I° I&| maufem™ v 78T

semi-circles. Then TS gIETII3T

1. AM=3r 1. AM=3r
2. AM=6r 2. AM=6r

3. AM=2V2r 3. AM=2V2r
4. AM=2V3r 4. AM=2V3r

149. In the given figure APQR is a right angled 149, &3 ar® fg'39 f¥'9,APQR fe'a miaat faga 7
triangle in which ~Q=90° and ABCQ is a square fam f<°'9 £Q=90° w3 ABCQ fe'a =gar I famet
with side 2 cm. Find the area of A PQR. T99 FA" 2 AH J1 APQR €' H39e® UIT ad |

1. 2t4+32\/3} Sq. cm 1, ZH"'TZ\/S}QHET?{ H: B
2. %3\/3} Sg.cm 2
3. EH_?/S} Sq.cm 3.

4 V2(4+243)
' 3

Sq.cm
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In the given figure, POQ is the diameter of a circle
with centre O. If SR || PQ and ZPQR = 48° then
find £ZSTP.

1. 42°
2. 48
3. 148
4. 138°

Himalayas are originated from

1. Bay of Bengal

2. Tethys Sea

3. Atlantic Ocean

4.  Indian Ocean

The difference in birth rate and death rate is
called

1. Growth Rate

2. Infant Birth Rate

3. SexRatio

4. Dependency Rate

The food needs of any country are determined

The geographical size of area

The rural population

The urbanized population

The size of population and its standard of
living.

A w NN -~ T

Which is the largest delta of the world
1. Volga Delta

2. Sunder ban Delta

3. Danube Don Delta

4. Kaveri Delta

Kaziranga Sanctuary is situated in which one
of the following states ?
1. Assam 2.
3. Kerala 4.

Punjab
Himachal Pradesh

The areas with concentration of jute mills in
India are of

1. Maharashtra 2.
3. Uttar Pradesh 4,

West Bengal
Gujarat

150.

151.

152.

153.

154.

155.

156.

fegae fagafes,POQEag0T 3 agdger
fer 31799 SR||PQ™3 LPQR=48'3< 3t
ZSTPU3TET|

1. 42°
2. A
3. 148
4. 138

forfamr ygaat € @ 3usl J6 fay fea
fam 3 9et 97

HI® ©f 4T3t

W HITHET

foe wammaE

= o k=

HEH v M3 I va €@ W39 & < afde 951

1. =UTEd
2. fog#sH =9
3. fé&arwauz @9
4. wiHldg €9

faw €w € 995 €1 Agazt fa< faaufaz
3t AT 98

H3d ¥ Fi3d wad & Wad J

Ug =W & »ud J
Hfgdt R € Wg 3|
HeHTYHT @ Arete 3 3fde Afas 3|

= o k=

eaMT e g 3 @ 3T 3se fagzr g7
Hodgs 58T
ar=dl FBer

Bow e

artdar a8l diw U39 95 fafun f&9

faog v fe9 nfag 97
1. ™HMH 2. UdA"
3. A9 4. foures yew

first fammer ax7
1. WIamear 2.
3. G3ayew 4.

E

=R Tars
greag
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Marble is a :-

1. Sedimentary Rock
2. lgneous Rock

3. Basalt Rock

4. Metamorphic Rock

Hirakund Dam is built on which one of the
following rivers ?

1. Satlyj 2.
3. Narmada 4.

Mahanadi
Krishna

Which Mughal Emperor divided Punjab into two
States ?

1. Babar 2.
3. Aurangzeb 4,

Akbar
Sikandar

Which river is known as Bipasha?
1. Ravi 2. Chenab
3. Beas 4. Jhelum

When did Babur attack on India at fourth time ?

1. In1524 2. In1525

3. In1523 4. In1526
Which is the oldest Vedas ?

1. Samved 2. Rigved

3. Yajurved 4,  Atharva Ved

What type of God of Sri Guru Nanak Dev Ji ?

1. Nirgun 2. Sadgun

3. Avgun 4. Nirakaar
What is Jazia ?

1. Religion 2. Religious Tax
3. Pratha 4. Sunni

What is the name of Guru Ramdas Ji’s wife ?

1. Bibi Bhani 2. Bibi Sulakhni

3. Bibi Khivi 4. Bibi Mehtab Kaur
When did Napoleon die ?

1. In1825 2. In1826

3. In1827 4,  In1821

157.

158.

159.

160.

161.

162.

163.

164.

165.

166

HIg® al d

1. Ifeegdes

2. WMI™I 9T

3. HA'BCHTCSH

4. yg=dfzgges

Taa = §a faoat <t 3 afanr 3
1. HAI&A 2. Hdael
3. ®aWer 4. dfgaaT

"

fon worswwa & dvw § € Jar fe9
=fanre?

1. 9% 2. MAHd B

3. WddWyg & 4. frdedd
faual 56 § feumar @ &1 & wfemr wier
Ht?

1. = 2. foow

3. fonmm 4. faosw

oHd & 96l =g 3199 Qud av aveTElan?
1. 1524%h 2. 1525 g

3. 15238 4. 15268

A9 3" yrels <% fagar 47

1. AHevT 2. fogr=ev

3. Hgdee 4, wgdee

a9 &76d €< 1 @ yaHIn fad frar 47
1. fagare 2. AOdlE

3. weEgE 4. fsowamg
vt &t 7

1. TaH 2. UdfHa a9

3. ygr 4. wHat

dId IHEH HI € uFat e &t &F A7

1. HtEt gt 2. HHEl ABYat

3. gt Wit 4. dtdt wfogg &9
. fatiss &t W3 ae Jet

1. 1825fe9 2. 1826 few

3. 1827 fe9 4. 1821f%9
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Who produce the budget in the Parliament ?
1. Prime Minister 2. President
3. Home Minister 4.  Finance Minister

What do we call preamble ?
1. Reflection of Costitution
2. Key of Constitution

3. Both1and2

4. None of the above

Which country has the veto power ?

1. India 2. America

3. France 4.  China
Which country has democracy ?

1. North Korea 2. China

3. SaudiArab 4.  Switzerland

Who was appointed as the 19th Lok Sabha
Speaker in 2019 ?

1. OmBirla 2. Hamid Ansari
3. Sonia Gandhi 4.  PBthambidurai
Bhartiya Janata Party was founded in

1. In1952 2. In1977

3. In1980 4. In1984

How many judges have international court of
Justice?

1. 12 2. 15
3. 20 4. 22
Bangladesh was established in
1. In1965 2. In1972
3. In1971 4. In1970

The quality of any good or service which
satisfies our wants is called :

1. Utility 2. Wealth

3. Price 4. Money

167.

168.

169.

170.

171.

172.

173.

174.

175.

7w fe9 ave d« Un dger J7

1. Jyu& w3dt 2. dHeIuUIt
3. aife wadt 4. fez iz
YyAI=ST § dt afde aa7?

1. Hfzos = w@e=t

2. ffegs &t &+t

3. S 1M32

4. Qudaz fes aet &dt

faog ew as <1 wast 97

1. 94 2. wHdtar
3. @IH 4, s

faod ow &9 Badza d7

1. Gadtadr 2. d@tm

3. wEetmgy 4. Afecads
2019 fe9 195t 9 Ag™ & AUlad fan &
gfen famr?

1. &y fagsr 2. gfHe wwTat

3. Aatrardt 4. Ut o ddteart
Fradl 7837 urgel v "aH g dfem?
1. 1952 2. 1977

3. 1980 4. 1984
WIddHIdl anifea mesa € adt €1
farest faat & 37

1. 12 2. 15

3. 20 4. 22

HI1%EH € FEUST d¢ JE17?
1. 1965fsw 2. 1972 fewg
3. 1971 few 4. 1970 fewg

fan =ng wt A= e QU g=, fan &%
At wgast igwe Jent 0%, § &t faor
e g7

1. IweaeE 2.

3. d@MI 4.

e
HedT



176.

177.

178.

179.

180.

26

If a person sold 50 units of a commodity at a
price of Rs. 6 per unit, then what will be the total
income of that person ?

1. Rs.30 2.
3. Rs. 3000 4.

Rs. 300
Rs. 56

Which of the following sector is mainly included
in Primary Sector ?

1. Agriculture Sector

2. Industrial Sector

3. Service Sector

4. Manufacturing Sector

If in a work more persons are working than what
is required, then the extra people working are
called which type of unemployed ?

Seasonally Unemployed
Frictionally Unemployed
Disguised Unemployed
Cyclically Unemployed

o=

Poverty line is determined on which of the
following basis by Government of India ?

1. Income level

2. Expenditure level
3. Investment level
4. Saving level

In national income accounting, the income of
which type of people is included in it ?

1. Foreigners

2. Non-Residents

3. Normal Residents
4.  All of the above

176. Hdd fe'q femaat ¢ gug y=1 fearel @

177.

178.

179,

180,

forre &% faw =wgz @bt so fearehat &t
feadt ager 9, 3t @n femaat & yuz d=

8 T & wHes faasl g2ail?

1. 303ue 2. 300 ue

3. 3000 JUE 4. 563gu¥

yrafig v3g e yy da 3 fauld 439 &
aiHs digr qater a7

1. y3tdag

2. Getfaa 439

3. A=TH3Ig

4, fesaor=uzg

vagfa awfeu g I eusardan 3
sarfenr famr &, 3t 20 W F &a T
sat § fauzr gggard faar waar?
Wt Bgearg

EU J¢ Hguarg

o k2=

93 Hdd'd e JrarEt dyr e feguas

fam wmarg 3 gt AteT §7?
1. WHes T UTd

2. Ygg e uynd

3. feewoung

4., Hu=g ¥ UTd

THZE] WHES € W'Y Ja9e AN, 81 fe e
fauz gat o1 wves § fonr fow wivis
drarqier g7

feodtmt

gig fsewwt

Havas (i) fasrsmt

Gudaz ra

o k=
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